
Pressalit Care
Pressalitvej 1
DK 8680 Ry
Denmark

+45 87 888 777 
+45 87 888 669
mail@pressalitcare.com
www.pressalitcare.com

Telephone: 
Telefax: 
E-mail: 
Web:

pressalit
care  

®

Pressalit Care

RT124-RT144

09/05/Mounting Info · Page 1/5

R
et

 t
il 

æ
n
d
ri
n
g
er

 f
or

b
eh

ol
d
es

 ·
 R

ec
h
t 

au
f 
Ä
n
d
er

u
n
g
en

 s
in

d
 v

or
b
eh

al
te

n
 ·
 S

u
b
je

ct
 t

o 
al

te
ra

ti
on

 w
it
h
ou

t 
fu

rt
h
er

 n
ot

ic
e

N
ou

s 
n
ou

s 
ré

se
rv

on
s 

le
 d

ro
it
 d

’a
p
p
or

te
r 

to
u
te

s 
m

od
if
ic

at
io

n
s 

p
ou

r 
l’a

m
él

io
ra

ti
on

 d
e 

n
ou

s 
p
ro

d
u
it
s 

sa
n
s 

p
ré

av
is

.
W

ijz
ig

in
g
en

 v
oo

rb
eh

ou
d
en

 ·
 S

al
vo

 v
ar

ia
ci

on
es

 ·
 S

al
vo

 v
ar

ia
zi

on
i 
· 
R
ät

te
n
 t

ill
 ä

n
d
ri
n
g
ar

 f
ör

b
eh

ål
le

s 
· 
V
i 
fo

rb
eh

ol
d
er

 o
ss

 r
et

t 
ti
l 
en

d
ri
n
g
er

K
ai

kk
i 
oi

ke
u
d
et

 m
u
u
to

ks
iin

 p
id

ät
et

ää
n
 ·
 R

et
tu

r 
ti
l 
b
re

yt
in

g
a 

ás
ki

lin
n
. 
R
es

er
va

d
o 

o 
d
ir
ei

to
 d

e 
fa

ze
r 

m
od

if
ic

aç
õe

s 
se

m
 p

ré
vi

o 
E

π
ιæ

vλ
α

σ
σ

Þ
µ

εθ
α

 γ
ια

 ε
κτ

νπ
ω

τι
κά

 γ
ά

θ
η

, µ
ικ

ές
 τ

εø
νι

κέ
ς 

α
λλ

α
γέ

ς 
κα

ι π
α

ρ
εκ

κλ
ίσ

ει
ς 

µ
ï

ντ
έλ

ω
ν.

1090

(427/8)

762 (30)762 (30)

475 (186/8)
762 (30)

762 (30)

762 (30) 1200 (472/8)

762 (30)

1090

(427/8)

762 (30)

1000 (393/8)

1200 (472/8)

RT124

RT126

RT136

RT138

RT144

RT128

RT124

RT126

RT128

RT124

RT126

RT128

RT136

RT138



Pressalit Care

RT100 - RT101 - RT102

RT103 - RT104 - RT110

08/03/Mounting Info

NB!

1

3B

2A2A 1

2A

83 (32/8)

2A

2C

1C

1D

1E

3A

3C

1A

1B

3B2B

1C

1D

1E

RT136
RT138

LA 8825 x 4

RT124
RT126
RT128
RT144
LA 8825 x 3

R
et

 t
il 

æ
n
d
ri
n
g
er

 f
or

b
eh

ol
d
es

 ·
 R

ec
h
t 

au
f 
Ä
n
d
er

u
n
g
en

 s
in

d
 v

or
b
eh

al
te

n
 ·
 S

u
b
je

ct
 t

o 
al

te
ra

ti
on

 w
it
h
ou

t 
fu

rt
h
er

 n
ot

ic
e

N
ou

s 
n
ou

s 
ré

se
rv

on
s 

le
 d

ro
it
 d

’a
p
p
or

te
r 

to
u
te

s 
m

od
if
ic

at
io

n
s 

p
ou

r 
l’a

m
él

io
ra

ti
on

 d
e 

n
ou

s 
p
ro

d
u
it
s 

sa
n
s 

p
ré

av
is

.
W

ijz
ig

in
g
en

 v
oo

rb
eh

ou
d
en

 ·
 S

al
vo

 v
ar

ia
ci

on
es

 ·
 S

al
vo

 v
ar

ia
zi

on
i 
· 
R
ät

te
n
 t

ill
 ä

n
d
ri
n
g
ar

 f
ör

b
eh

ål
le

s 
· 
V
i 
fo

rb
eh

ol
d
er

 o
ss

 r
et

t 
ti
l 
en

d
ri
n
g
er

K
ai

kk
i 
oi

ke
u
d
et

 m
u
u
to

ks
iin

 p
id

ät
et

ää
n
 ·
 R

et
tu

r 
ti
l 
b
re

yt
in

g
a 

ás
ki

lin
n
. 
R
es

er
va

d
o 

o 
d
ir
ei

to
 d

e 
fa

ze
r 

m
od

if
ic

aç
õe

s 
se

m
 p

ré
vi

o 
E

π
ιæ

vλ
α

σ
σ

Þ
µ

εθ
α

 γ
ια

 ε
κτ

νπ
ω

τι
κά

 γ
ά

θ
η

, µ
ικ

ές
 τ

εø
νι

κέ
ς 

α
λλ

α
γέ

ς 
κα

ι π
α

ρ
εκ

κλ
ίσ

ει
ς 

µ
ï

ντ
έλ

ω
ν.

Pressalit Care
Pressalitvej 1
DK 8680 Ry
Denmark

+45 87 888 777 
+45 87 888 669
mail@pressalitcare.com
www.pressalitcare.com

Telephone: 
Telefax: 
E-mail: 
Web:

pressalit
care  

®

Pressalit Care

09/05/Mounting Info · Page 2/5



Pressalit Care
Pressalitvej 1
DK 8680 Ry
Denmark

+45 87 888 777 
+45 87 888 669
mail@pressalitcare.com
www.pressalitcare.com

Telephone: 
Telefax: 
E-mail: 
Web:

pressalit
care  

®

R
et

 t
il 

æ
n
d
ri
n
g
er

 f
or

b
eh

ol
d
es

 ·
 R

ec
h
t 

au
f 
Ä
n
d
er

u
n
g
en

 s
in

d
 v

or
b
eh

al
te

n
 ·
 S

u
b
je

ct
 t

o 
al

te
ra

ti
on

 w
it
h
ou

t 
fu

rt
h
er

 n
ot

ic
e

N
ou

s 
n
ou

s 
ré

se
rv

on
s 

le
 d

ro
it
 d

’a
p
p
or

te
r 

to
u
te

s 
m

od
if
ic

at
io

n
s 

p
ou

r 
l’a

m
él

io
ra

ti
on

 d
e 

n
ou

s 
p
ro

d
u
it
s 

sa
n
s 

p
ré

av
is

.
W

ijz
ig

in
g
en

 v
oo

rb
eh

ou
d
en

 ·
 S

al
vo

 v
ar

ia
ci

on
es

 ·
 S

al
vo

 v
ar

ia
zi

on
i 
· 
R
ät

te
n
 t

ill
 ä

n
d
ri
n
g
ar

 f
ör

b
eh

ål
le

s 
· 
V
i 
fo

rb
eh

ol
d
er

 o
ss

 r
et

t 
ti
l 
en

d
ri
n
g
er

K
ai

kk
i 
oi

ke
u
d
et

 m
u
u
to

ks
iin

 p
id

ät
et

ää
n
 ·
 R

et
tu

r 
ti
l 
b
re

yt
in

g
a 

ás
ki

lin
n
. 
R
es

er
va

d
o 

o 
d
ir
ei

to
 d

e 
fa

ze
r 

m
od

if
ic

aç
õe

s 
se

m
 p

ré
vi

o 
E

π
ιæ

vλ
α

σ
σ

Þ
µ

εθ
α

 γ
ια

 ε
κτ

νπ
ω

τι
κά

 γ
ά

θ
η

, µ
ικ

ές
 τ

εø
νι

κέ
ς 

α
λλ

α
γέ

ς 
κα

ι π
α

ρ
εκ

κλ
ίσ

ει
ς 

µ
ï

ντ
έλ

ω
ν.

LA8825

Ø 2,5 x min. 45 mm
Ø (1/8) x min. (16/8) 

LA8825

Ø 8 x min. 45 mm
Ø (3/8) x min. (16/8) 

2"x1,5" lægte, 22 mm krydsfiner eller lign.
2"x1,5" Latten, 22 mm Sperrholz oder desgl.
2"x1,5" studs, 22 mm (7/8) plywood or equivalent
2"x1,5" lattes, 22 mm contre-plaqué ou similaire
2"x1,5" rachel, 22 mm multiplex o.i.d.
Puntales de  2"x1,5", madera contrachapada de 22 mm o similar
2"x1,5" assicelle, 22 mm legno compensato o similari
2"x1,5" läkt, 22 mm plywood eller motsvarande
2"x1,5" lekter, 22 mm kryssfinér eller lign.
2"x1,5" tukipuu, 22 mm:n ristivaneri tmv.
2"x1,5" listi 22 mm krossviđur eđa bp.h.
Prumos de 2"x1,5", contraplacado de 22 mm ou equivalente
2"x1,5" Κoøλίας 22 mm KÞvτρα πλαΚέ ή Κάτι παρÞµoιo

Gasbetonvægge > G2
Gasbetonwände > G2
Aerated concrete walls > G2
Murs de béton cellulaire > G2
Gasbetonwanden > G2
Paredes de hormigón poroso > G2
Muri in calzestruzzo areato > G2
Väggar av lättbetong > G2
Gassbetongvegger > G2
Kevytbetoniseinät > G2
Léttsteypuveggur > G2
Paredes de betão celular > G2
Toίøoς, µπετÞv πoρωδες > G2

Murstensvægge (massiv mursten eller hulsten) >Mz12 eller >Hlz12
Backsteinwände (Vollstein oder Lochsteinen) >Mz12 oder >Hlz12
Brick walls (solid brick or hollow brick) >Mz12 or >Hlz12
Murs de brique (brique pleine ou brique alvéolarie) >Mz12 ou >Hlz12
Gemetselde wanden (bakstenen of holle stenen) >Mz12 of >Hlz12
Paredes de ladrillo (ladrillo macizo o ladrillo hueco) >Mz12 o >Hlz12
Muri in mattoni (mattoni pieni o forati) >Mz12 o >Hlz12
Tegelväggar (massivt tegel eller med hål) >Mz12 eller >Hlz12
Mursteinsvegger (massiv murstein eller hulstein) >Mz12 eller >Hlz12
Tiiliseinä (massiivinen tai ontto tiili) >Mz12 tai >Hlz12
Múrsteinsveggir (gegnheill múrsteinn eđa holsteinn) >Mz12 eđa >Hlz12
Paredes de tijolo (tijolo maciço ou furado) >Mz12 ou >Hlz12
Toίøoς απÞ τoύâλα (σuµπαγή ή µη) > MZ 12 ή > HIZ 12

Betonvægge > B15
Betonwände > B15
Concrete walls > B15
Murs de béton > B15
Betonwanden > B15
Paredes de hormigón > B15
Muri in calzestruzzo > B15
Betongväggar > B15
Betongvegger > B15
Betoniseinät > B15
Steinsteypuveggur > B15
Paredes de betão > B15
Toίøoς απÞ µπετÞv > B15

Pressalit Care

09/05/Mounting Info · Page 3/5

Kun vejledende • Nur richtungsweisend • Guidelines only • Le guide n’a qu’une valeur indicative • Niet te beoordelen
Solamente a titulo indicativo • Solamente a titolo indicativo • Endast anvisning • Kun veiledende • Vain ohjeellinen • Ađeins til leiđbeinandi     
Apenas linhas de orientação • ΜÞνï âïηθητικές γραµµές.



Pressalit Care

RT100 - RT101 - RT102

RT103 - RT104 - RT110

08/03/Mounting Info

R
et

 t
il 

æ
n
d
ri
n
g
er

 f
or

b
eh

ol
d
es

 ·
 R

ec
h
t 

au
f 
Ä
n
d
er

u
n
g
en

 s
in

d
 v

or
b
eh

al
te

n
 ·
 S

u
b
je

ct
 t

o 
al

te
ra

ti
on

 w
it
h
ou

t 
fu

rt
h
er

 n
ot

ic
e

N
ou

s 
n
ou

s 
ré

se
rv

on
s 

le
 d

ro
it
 d

’a
p
p
or

te
r 

to
u
te

s 
m

od
if
ic

at
io

n
s 

p
ou

r 
l’a

m
él

io
ra

ti
on

 d
e 

n
ou

s 
p
ro

d
u
it
s 

sa
n
s 

p
ré

av
is

.
W

ijz
ig

in
g
en

 v
oo

rb
eh

ou
d
en

 ·
 S

al
vo

 v
ar

ia
ci

on
es

 ·
 S

al
vo

 v
ar

ia
zi

on
i 
· 
R
ät

te
n
 t

ill
 ä

n
d
ri
n
g
ar

 f
ör

b
eh

ål
le

s 
· 
V
i 
fo

rb
eh

ol
d
er

 o
ss

 r
et

t 
ti
l 
en

d
ri
n
g
er

K
ai

kk
i 
oi

ke
u
d
et

 m
u
u
to

ks
iin

 p
id

ät
et

ää
n
 ·
 R

et
tu

r 
ti
l 
b
re

yt
in

g
a 

ás
ki

lin
n
. 
R
es

er
va

d
o 

o 
d
ir
ei

to
 d

e 
fa

ze
r 

m
od

if
ic

aç
õe

s 
se

m
 p

ré
vi

o 
E

π
ιæ

vλ
α

σ
σ

Þ
µ

εθ
α

 γ
ια

 ε
κτ

νπ
ω

τι
κά

 γ
ά

θ
η

, µ
ικ

ές
 τ

εø
νι

κέ
ς 

α
λλ

α
γέ

ς 
κα

ι π
α

ρ
εκ

κλ
ίσ

ει
ς 

µ
ï

ντ
έλ

ω
ν.

Pressalit Care
Pressalitvej 1
DK 8680 Ry
Denmark

+45 87 888 777 
+45 87 888 669
mail@pressalitcare.com
www.pressalitcare.com

Telephone: 
Telefax: 
E-mail: 
Web:

pressalit
care  

®

Pressalit Care

09/05/Mounting Info · Page 4/5

Kun vejledende • Nur richtungsweisend • Guidelines only • Le guide n’a qu’une valeur indicative • Niet te beoordelen
Solamente a titulo indicativo • Solamente a titolo indicativo • Endast anvisning • Kun veiledende • Vain ohjeellinen • Ađeins til leiđbeinandi     
Apenas linhas de orientação • ΜÞνï âïηθητικές γραµµές.

Ø 6 x min. 45 mm
Ø (2/8) x min. (16/8) 

XX

XX
+ 8 mm

(3/8)

Ved dobbeltsidig montering anvendes M6 rustfri møtrikker (DIN 934 A2) og M6 skruer 
(DIN 84A A2) med en længde svarende til emnets tykkelse (xx) + 8 mm.
Bei doppelseitiger Montage sollen M6 rostfreie Mutter (DIN 934 A2) und M6 Schrauben 
(DIN 84A A2) mit einer Länge entsprechend zur Dicke des Gegenstandes 
(xx) + 8 mm verwendet werden.
When double mounting, stainless M6 nuts (DIN 934 A2) and M6 screws (DIN 84A A2) with a
length corresponding to the thickness of the subject (xx) + 8 mm must be used.
Pour montage double utilisez des M6 écrous inoxydables (DIN 934 A2) et des M6 vis 
(DIN 84A A2) avec une longueur correspondant à la grosseur de la pièce (xx) + 8 mm.
Bij rug-aan-rug montage dienen RVS M6 bouten (DIN 934 A2) en M6 schroven 
(DIN 84A A2) met een lengte van de dikte van het onderdeel (xx) + 8 mm toepast te worden.
Tratándose de montaje bilateral se utilizan tuercas inoxidables M6 (DIN 934 A2) y tornillos M6 
(DIN 84A A2) de una longitud correspondiente al espesor de la pieza (xx) + 8 mm.
Usare per il montaggio doppio M6 dadi inossidabili (DIN 934 A2) e M6 viti (DIN 84A A2) 
di una lunghezza corrispondente allo spessore del pezzo (xx) + 8 mm.
Vid dubbelsidig montering används M6 rostfria muttrar (DIN 934 A2) och M6 skruvar 
(DIN 84A A2) med en längd som motsvarar ämnets tjocklek (xx) + 8 mm.
Ved dobbeltsidig montering brukes M6 rustfri muttere (DIN 934 A2) og M6 skruer 
(DIN 84A A2) med en lengde som svarer til tykkelsen på emnet (xx) + 8 mm.
Kaksipuolisessa asennuksessa käytetään ruostumattomia M6 muttereita (DIN 934 A2) 
ja M6 ruuveja (DIN 84A A2), joiden pituus vastaa aihion paksuutta (xx) + 8 mm.
bpar sem festa á handarhöld svo ađgengileg séu frá tveimur hliđum skal mota M6 ryđfriar 
rær (DIN 934 A2) og M6 skrúfur (DIN 84A A2) en lengd bpeirra bparf ađ svara til bpykktar 
efnisins (xx) + 8 mm.
Em caso de montagem dupla, use porcas inoxidáveis M6 (DIN 934 A2) e parafusos M6 
(DIN 84A A2) com um comprimento correspondente à espessura do material (xx) + 8 mm.
Για δίπλεuρo µovτάρισµα: øρησιµoπoιήστε αvoêείδωτouς περιKoøλίες (παêιµάδια) M6
(DIN 934 A2) Kαι âίδες M6 (DIN 84A A2) σε µήKoς πou αvτιστoιøεί στo πάøoς τou
uλιKoύ (xx) + 8 mm.



Pressalit Care
Pressalitvej 1
DK 8680 Ry
Denmark

+45 87 888 777 
+45 87 888 669
mail@pressalitcare.com
www.pressalitcare.com

Telephone: 
Telefax: 
E-mail: 
Web:

pressalit
care  

®

Pressalit Care

09/05/Mounting Info · Page 5/5

R
et

 t
il 

æ
n
d
ri
n
g
er

 f
or

b
eh

ol
d
es

 ·
 R

ec
h
t 

au
f 
Ä
n
d
er

u
n
g
en

 s
in

d
 v

or
b
eh

al
te

n
 ·
 S

u
b
je

ct
 t

o 
al

te
ra

ti
on

 w
it
h
ou

t 
fu

rt
h
er

 n
ot

ic
e

N
ou

s 
n
ou

s 
ré

se
rv

on
s 

le
 d

ro
it
 d

’a
p
p
or

te
r 

to
u
te

s 
m

od
if
ic

at
io

n
s 

p
ou

r 
l’a

m
él

io
ra

ti
on

 d
e 

n
ou

s 
p
ro

d
u
it
s 

sa
n
s 

p
ré

av
is

.
W

ijz
ig

in
g
en

 v
oo

rb
eh

ou
d
en

 ·
 S

al
vo

 v
ar

ia
ci

on
es

 ·
 S

al
vo

 v
ar

ia
zi

on
i 
· 
R
ät

te
n
 t

ill
 ä

n
d
ri
n
g
ar

 f
ör

b
eh

ål
le

s 
· 
V
i 
fo

rb
eh

ol
d
er

 o
ss

 r
et

t 
ti
l 
en

d
ri
n
g
er

K
ai

kk
i 
oi

ke
u
d
et

 m
u
u
to

ks
iin

 p
id

ät
et

ää
n
 ·
 R

et
tu

r 
ti
l 
b
re

yt
in

g
a 

ás
ki

lin
n
. 
R
es

er
va

d
o 

o 
d
ir
ei

to
 d

e 
fa

ze
r 

m
od

if
ic

aç
õe

s 
se

m
 p

ré
vi

o 
E

π
ιæ

vλ
α

σ
σ

Þ
µ

εθ
α

 γ
ια

 ε
κτ

νπ
ω

τι
κά

 γ
ά

θ
η

, µ
ικ

ές
 τ

εø
νι

κέ
ς 

α
λλ

α
γέ

ς 
κα

ι π
α

ρ
εκ

κλ
ίσ

ει
ς 

µ
ï

ντ
έλ

ω
ν.

Ved montage i porøse byggematerialer forhør Dem i tvivlstilfælde hos en fagmand angående valg af korrekt dybel 
(udtrækskraft >= 2kN)
Bei einer Montage an Leichtbauwänden setzen Sie sich bitte mit einem Fachmann zwecks Dübeltypen in Verbindung 
(Auszugkraft >= 2 kN)
When mounting it is recommended, when in doubt, to check with a professional which type of fixing to use 
(extracting force >= 2 kN)
Dans le cas de l’installation dans des matériaux de construction poreux, renseignes-vous, en cas de doubte, 
auprès d’un spécialiste concernant le choix des chevilles correctes (force d’extraction >= 2 kN)
Win in twijfelgevallen bij montage in poreuze bouwmaterialen advies in bij een vakman over de keuze van de juiste plug 
(uittrekkracht >= 2 kN)
Para el montaje en paredes porosas consulte a un profesional en caso de duda respecto al tipo de taco que se debe usar 
(esfuerzo de arranque >= 2 kN)
In caso di dubbi per il montaggio a muri di materiale poroso, chiedere consiglio al personale specializzato per la scelta 
del perno fisso corretto (forza di estrazione >= 2 kN)
Vid montering i porösa byggmaterial bör du i tveksamma fall ta kontakt med en fackman beträffande val av rätt sprint 
(dragkraft >= 2 kN)
Ved montering i porøse bygningsmaterialer bør du i tvilstilfeller forhøre deg med en fagmann om valg av korrekt dybel 
(uttrekkskraft >= 2 kN)
Kun asennus tehdään huokoiseen rakennusmateriaaliin, kysy ammattiasentajalta neuvoa oikean asennustulpan valinnasta 
(tartuntavoima >= 2 kN)
Viđ uppsetningu á gleyp byggingarefni, spyrjiđ bpá í vafatilvikum fagmann ráđa um val á réttu splitti (átaksafl >= 2 kN)
No caso de dúvidas para a montagem com paredes de material poroso, peça conselhos a pessoal especializado para 
a escolha do pino fixo correcto (força de extracção >= 2 kN)
Σε πεqίπτωση αµΘιâoλιωv για τηv τoπoΘέτηση σε τoίøouς απÞ πoqωδες uλιxÞ, σuµâouλεuτείτε τo εêειδιxεuµέvo
πqoσωπιxÞ για τηv επιλoγή τou σωστoύ σταΘεqoύ πείqou (δύvαµη αΦαίqεσης >= 2 kN)

Ved gipsplader eller lign. anbefales det, at håndgrebet fastgøres i en egnet bagvedliggende konstruktion.
Bei Gipswänden oder dergl. empfehlen wir die Berücksichtigung einer Vorwandinstallation.
On plasterboard or equivalent we recommend that the handrail is secured to a suitable, underlying substrate.
Pour des carreaux de plâtre ou similaire nous recommandons que la barre d’appui soit fixée sur un renfort de cloison.
Bij toepassing van gipswanden of andere zwakke wanden dienen de handgreben op een goede onderliggende konstruktie 
gemonteerd to worden.
Trantándose de placas de yeso o similar se recomenda fijar el asidero con una construcción apropiada por detrás.
In caso di tavole di gesso è consigliabile fissare il corrimano in una costruzione adatta posteriore.
Vid montering på gipsskivor eller liknande rekommenderar vi att handtaget sätts fast på en lämplig bakomliggande 
konstruktion.
Ved gipsplater eller lign. anbefales det at man fester håndtaket i en bakenforliggende konstruksjon.
Kipsilevyjä ym. yhteydessä kädensija on hyvä kiinnittää levyn takana olevaan tarkoitukseen sopivaan lujaan rakenteeseen.
bpegar um er ađ gifsplötur eđa bpess háttar er mælt međ †vi ađ festa handarhaldiđ bpar sem traust festing er á bak viđ.
Em caso de placas de gesso ou equivalente recomenda-se fixar a barra de apoio a uma construção subjacente apropriada.
Σε γuψoσαvίδες Kαι παρÞµoια vλιKά σuvιoτάται vα τoπoΘετηΘεί η øειρoλαâή σε Kατάλληλη KατασKεuή πίσω απÞ

Kun vejledende • Nur richtungsweisend • Guidelines only • Le guide n’a qu’une valeur indicative • Niet te beoordelen
Solamente a titulo indicativo • Solamente a titolo indicativo • Endast anvisning • Kun veiledende • Vain ohjeellinen • Ađeins til leiđbeinandi     
Apenas linhas de orientação • ΜÞνï âïηθητικές γραµµές.



Pressalit Care

09/05/Mounting Info

R
et

 t
il 

æ
n
d
ri
n
g
er

 f
or

b
eh

ol
d
es

 ·
 R

ec
h
t 

au
f 
Ä
n
d
er

u
n
g
en

 s
in

d
 v

or
b
eh

al
te

n
 ·
 S

u
b
je

ct
 t

o 
al

te
ra

ti
on

 w
it
h
ou

t 
fu

rt
h
er

 n
ot

ic
e

N
ou

s 
n
ou

s 
ré

se
rv

on
s 

le
 d

ro
it
 d

’a
p
p
or

te
r 

to
u
te

s 
m

od
if
ic

at
io

n
s 

p
ou

r 
l’a

m
él

io
ra

ti
on

 d
e 

n
ou

s 
p
ro

d
u
it
s 

sa
n
s 

p
ré

av
is

.
W

ijz
ig

in
g
en

 v
oo

rb
eh

ou
d
en

 ·
 S

al
vo

 v
ar

ia
ci

on
es

 ·
 S

al
vo

 v
ar

ia
zi

on
i 
· 
R
ät

te
n
 t

ill
 ä

n
d
ri
n
g
ar

 f
ör

b
eh

ål
le

s 
· 
V
i 
fo

rb
eh

ol
d
er

 o
ss

 r
et

t 
ti
l 
en

d
ri
n
g
er

K
ai

kk
i 
oi

ke
u
d
et

 m
u
u
to

ks
iin

 p
id

ät
et

ää
n
 ·
 R

et
tu

r 
ti
l 
b
re

yt
in

g
a 

ás
ki

lin
n
. 
R
es

er
va

d
o 

o 
d
ir
ei

to
 d

e 
fa

ze
r 

m
od

if
ic

aç
õe

s 
se

m
 p

ré
vi

o 
E

π
ιæ

vλ
α

σ
σ

Þ
µ

εθ
α

 γ
ια

 ε
κτ

νπ
ω

τι
κά

 γ
ά

θ
η

, µ
ικ

ές
 τ

εø
νι

κέ
ς 

α
λλ

α
γέ

ς 
κα

ι π
α

ρ
εκ

κλ
ίσ

ει
ς 

µ
ï

ντ
έλ

ω
ν.

Monteringsmetoder • Montagemethoden • Methods of installation • Métodes de montage 
Montagemethoden • Métodos de montaje • Metodi di montaggio • Monteringsmetoder
Monteringsmetoder • Asennusmenetelmät • Uppsetningarad̄ferd̄ir • Métodos de montagem
Μέθïδïι εγκατάστασης

Pressalit Care
Pressalitvej 1
DK 8680 Ry
Denmark

+45 87 888 777 
+45 87 888 669
mail@pressalitcare.com
www.pressalitcare.com

Telephone: 
Telefax: 
E-mail: 
Web:

pressalit
care  

®

Kun vejledende • Nur richtungsweisend • Guidelines only • Le guide n ’a qu’une valeur indicative • Niet te beoordelen
Solamente a titulo indicativo • Solamente a titolo indicativo • Endast anvisning • Kun veiledende • Vain ohjeellinen
Ad̄eins til leid̄beinandi • Apenas linhas de orientação • ΜÞνï âïηθητικές γραµµές.

✔  Medsendes produktet • Liegt dem Produkt bei • Included with the product • Fournie avec le produit 
     Wordt met het product mee gezonden • Incluido con el producto • Allegato al prodotto • Produkten skickas med • Følger med produktet 
     Lähetetään tuotteen mukana • Fylgi vörunni • Envia-se anexo ao produto • Συνïδεύει τï πρïϊÞν 
✖   Ikke muligt • Nicht möglich • Not possible • Impossible • Niet mogelijk • Imposible • Impossibile • Ej möjligt • Ikke mulig • Ei mahdollinen
     Ekki mögulegt • Não possível • Αδύνατïν

 

B
A ✔ 
A ✔
B
B
B
B ✔�
B ✔
A ✔
B
B ✔
B
B
B
B ✔
B ✔
D ✔
D ✔
D ✔

B
A ✔ 
A ✔
B
B
B
B ✔
B ✔
A ✔
B
B ✔
B
B
B
B ✔
B ✔
D ✔
D ✔
D ✔

C
✖
✖
C�
C�
C
C
C
✖
C�
C�
C�
C
C
C
C
✖
✖
✖

C
A ✔�
A ✔
B�
B�
B
B ✔�
B ✔
A ✔�
B�
B ✔�
B�
B
B
B ✔
B ✔�
D ✔�
D ✔�
D ✔

C
E
E
F
F
F
F
F
E
F
F�
F
F
F
F
F�
D ✔
D ✔
D ✔

R9900-R9915
R3016/R3018
RF016/RF018
R3146/R3148
RF146/RF148
R4140/R4141/42
R4260/R4270/R4261/62/71/72
R4360/R4361/62/71/72
R5010/R5015/R7010
R5140/R5145
R6010
R7165/66/67/68
R7142/R7143/R7150/R7151
R7256/R7258
R4920/21/R4930/31
R8240/41-61/R8245/46-66
RT490/RT491/RT850-870
RT100-110/RT124-138
RT114-119/RT212-215

DK

D

GB

F

NL

E

I

S

N

FIN

IS

P

GR

Murstensvægge
(massiv mursten eller hulsten)
>Mz12 eller >Hlz12
Backsteinwände
(Vollstein oder Lochsteinen)
>Mz12 oder >Hlz12
Brick walls
(solid brick or hollow brick)
>Mz12 or >Hlz12
Murs de brique
(brique pleine ou brique alvéolaire)
>Mz12 ou >Hlz12
Gemetselde wanden
(bakstenen of holle stenen)
> Mz12 of > Hlz12
Paredes de ladrillo
(ladrillo macizo o ladrillo hueco)
>Mz12 o >Hlz12
Muri in mattoni
(mattoni pieni o forati)
>Mz12 o >Hlz12
Tegelväggar
(massivt tegel eller med hål)
> Mz12 eller > Hlz12
Mursteinsvegger
(massiv murstein eller hulstein)
> Mz12 eller > Hlz12
Tiiliseinä
(massiivinen tai ontto tiili)
> Mz12 tai > Hlz12
Múrsteinsveggir
(gegnheill múrsteinn ed̄a holsteinn)
>Mz12 ed̄a >Hlz12
Paredes de tijolo
(tijolo maciço ou furado)
> Mz12 ou > Hlz12
Τïιøïς απÞ τïύâλα
(ïνµπαγή ή µη)
> Mz12 ή > Hlz12

2"x1,5" lægte, 
22 mm krydsfiner 
eller lign.
2"x1,5" Latten, 
22 mm Sperrholz 
oder desgl.
2"x1.5" studs, 
22 mm plywood 
or equivalent
2"x1,5" lattes, 
22 mm contre-plaqué 
ou similaire
2"x1,5" rachel, 
22 mm multiplex 
o.i.d.
Puntales de 2"x1,5", 
madera contrachapada 
de 22 mm o similar
2"x1,5" assicelle, 
22 mm legno 
compensato o similari
2" x 1,5" läkt, 
22 mm plywood 
eller motsvarande
2" x 1,5" lekter, 
22 mm kryssfinér 
eller lign.
2" x 1,5" tukipuu, 
22 mm:n ristivaneri 
tmv.
2"x1,5" listi 
22 mm krossvid̄ur 
ed̄a bp.h.
Prumos de 2" x 1,5" mm, 
contraplacado de 22 mm 
ou equivalente
2" X 1,5" κïøλίαs 22 mm
κÞντρα πλακέ 
ή κάτι παρÞµïιï

2x12,5 mm
gipsplader 
eller lign. 
2x12,5 mm 
Gipsplatten 
oder desgl. 
2x12.5 mm 
plasterboard 
or equivalent 
2x12,5 mm 
plaque de plàtre 
ou similaire 
2x12,5 mm 
gipsplaten 
 
2x12,5 mm recubrimi-
entos de placas de fibra
yeso, yeso-cartón, o similar 
2x12,5 mm 
lastre di gesso 
o similari 
2 x 12,5 mm 
gipsskiva 
eller liknande 
2 x 12,5 mm 
gipsplater 
eller lign. 
2 x 12,5 mm:n 
kipsilevy 
tmv. 
2x12,5 mm 
gifsplötur 
ed̄a bp.h. 
Placas de gesso 
de 2 x 12,5 mm 
ou equivalente 
2 X 12,5 mm 
γυψïσανίδα 
ή κάτι παρÞµïιï

Gasbetonvægge
> G2
 
Gasbetonwände
> G2
 
Aerated concrete walls
> G2
 
Murs de béton cellulaire
> G2
 
Gasbetonwanden
> G2
 
Paredes de hormigón 
poroso > G2
 
Muri in calzestruzzo 
areato > G2
 
Väggar av 
lättbetong > G2
 
Gassbetongvegger
> G2
 
Kevytbetoniseinät
> G2
 
Léttsteypuveggur
> G2
 
Paredes de betão 
celular > G2
 
Τïίøïς, µπετÞν 
πïρώδες >G2

Betonvægge
> B15
 
Betonwände
> B15
 
Concrete walls
> B15
 
Murs de béton
> B15
 
Betonwanden
> B15
 
Paredes de hormigón
> B15
 
Muri in calzestruzzo
> B15
 
Betongväggar
> B15
 
Betongvegger
> B15
 
Betoniseinät
> B15
 
Steinsteypuveggur
> B15
 
Paredes de betão
> B15
 
Τïίøïς απÞ µπετÞν
> B15

LA 8800(x4)

M 10x80
(3/8x31/8)
fischer SX 12

LA 8803(x2)
LA 8801(x6)
LA 8802(x10)

M 10x70
(3/8x26/8)
fischer SX 12

LA 8814(x2)
LA 8815(x6)
LA 8816(x10)

fischer KM 10

LA 8825(x4)

M 5 x 50
(2/8x2)
fischer SX 8

LA 8810(x4)

M 10x105
(3/8x41/8)
fischer GB 14

 A  B  C  D  E  F

LA 8811(x2)
LA 8812(x6)
LA 8813(x10)

M 10x105
fischer GB 14


